OnPoint Rcaing OP12C - Parts List

Qty Part Number Component Description
1 IRS2136BK Complete 12" rear axle and diff with BB's, Spur Gear etc.
1 12" center shock, AE, Hotbodies, IRS, CRC, Silva
1 Associated Gold and Blue Shock Spring
1 ASC6274 Associated Ball cups, for damper tubes, steering and shock
1 IRS1167 or CLN3381 IRS or CRC Ride height adjusters
1 ASC4635 Associated side links and football
1 ASC4637 Associated link pivot balls (5)
1 SER411070 Serpent $120 Rear Body Mounts (2)
1 SER411040 Serpent $120 Body Mount Adjusting Nuts (4)
1 SER411092 Serpent $120 Front Body Mounts (2)
1 ASC4686 Associated R5 front end
9pcs  |ASC31280 Short ball stud for bottom center shock mount, damper tubes and servo saver
1 Turnbuckles for steering and rod ends
1 KIM210 Kimbrough Medium servo saver
1 OP307 Spring cups and set screws
1 ASC4641 Associated Black Side Springs
1 ASC4653 12R5 Foam Bumper
1 SER411007 Roll Over Antenna
Qty Part Number Hardware
10 ASC21550 3mm low profile nuts
2 M3 3x8 button head screws for rear body mount
27 M3 flat head screws 3x5 (Links, Battery Location, Standoffs, pod plates)
4 M3 3x10 flat head screws for football and front body mounts
4 M3 3x6 flat head screws for front end bulkheads
4 M3 3x14 flat head screws to attach a-arm to suspension mounts
2 M2.5 x 6mm Button Head Screws for football

Parts list if you have R5

Qty Part Number Component Description
24 M3 flat head screws 3x5 (Battery Location, Standoffs. Pod plates)
4 M3 3x14 flat head screws to attach a-arm to suspension mounts
4 M3x6 button head screws for top plate
1 Long ball end for center shock
1 Imm thick x 6mm OD, 3mm shim for front of shock to mount to shock tower
7 3mm low profile nuts
4pcs  |ASC31280 For damper tubes
4pcs  |ASC6274 Associated Ball cups, for damper tubes

www.petitrc.com

1 www.onpointracing.com




